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MATHEMATICS SSC-II

SECTION — A (Marks 15)
Time allowed: 20 Minutes '

NOTE:

(Science Group)

Section-A is compulsory. All parts of this section are to be answered on the question paper itseif.

It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) The solution set of 5x* =15x is:
A {3,-3} B. {0,~3} C. {0} D. {0,3}
(ii) If b —4ac < 0, then the roots of equation ax + bx+c=0are:
A Rational B. Equal C. Unequal D. Imaginary
@iy WZ=L=k then
v w
A u=wk B. u=vk® C. u=vk D. u = wk?
(iv) A fraction in which the degree of the numerator is equal {o or greater than the degree of denominator is
called:
A Improper fraction B. Rational fraction
C. Proper fraction D. Irrational fraction
(v) If R={(0,2),(2,3),(3,3),(3,4)} then Domain of. R is:
A. {0,2,3} B. {0,3,4} C. {0,2,4} D. {2,3,4
(vi) AnAS =
A ¢ B. U C. A D. AC
(vii) The measures that are used to determine the degree or extent of variation in a data set are cailed
measures of:
A Variance B. Dispersion
C. Central tendency D. Average
(viiiy  15° is equal to:
A % radians B. Z radians C. %radians D. T radians

(ix) A line which has two points in common with a circle is cailed:

A Sine of a circle B. Secant of a circle

C. Tangent of a circle D. Consine of a circle
(x) Tangents drawn at the ends of diameter of a circle are:

A Perpendicular B. Parallel C. Nonparallel D. Collinear
{xi) An arc subtends a central angle of 40° then the corresponding chord will subtend a central angle of:

A 20° B. 40° C. 60° D. 80°
(xii) The length of each side of a regular pentagon is 5 cm. Its perimeter is:

A 10 cm B. 25¢cm C. 20cm D. 15 cm
(xiii)  The opposite angles of any quadrilateral inscribed in a circle are;

A Obtuse angles B. Supplementary angles

C. Acute angies D. Complementary angies
(xiv)  The angles subtended by an arc at the circumference of a circle are:

A Equal B. Acute C. Obiuse D. Un-equal
(xv)  The semi-circumference and the diameter of a circle both subtend a central angle of:

A 180° B. 90° C. 270° D. 360°
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MATHEMATICS SSC-li

~ (Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B {Marks 36
Q.2  Attempt any NINE parts. All parts carry equal marks. (9x4=236)

(i) Solve the equation 2x* ~5x-3=0 by completing square method.
(i) Solve the equation 4x=13x+14 -3

iii) Find K, if sum of the squares of the roots of the equation 4Kx* +3Kx-8=0 is 2
(iv) Find two integers whose difference is 4 and whose squares differ by 72.
(V) Two numbers are in the ratio 5 : 8. if 9 is added to each number, we get a new ratio 8 : 11, Find the

numbers.
(vi) If s varies directly as #* and inversely as v and s=7 when u=3, v=2. Find the vaiue of s when u=6 and
v=10.
" a ¢ e a |a+c'+é
(vi)  If —=—=— then show that == |—————-
b d f b \b*+d*+f

(vii)  Resolve into partial fractions.

x-9
(x+1)(x-3)
(x)  If U={1,2,34,5,6,7,89,10},4={1,3,57,9},B={2,3,57} then prove that (4UB)" = A° N B

(x}  If L={a,bc},M =1{2,3,4} then find one binary relation of Lx M . Also find the domain and range of the

reiation.
(x))  Find arithmetic mean, range, mode and median of 84, 62, 74, 74, 84, 48, 58, 84.
(xti)  Calculate standard deviation for the data: 9, 3, 8,8, 9, 8, 9, 18

1 l
+
1-Cos@ 1+ Cos8

(i)  Verify that: =2Cosec’ 0

(xiv)  Find area of the sector of a circle of radius 16 ¢cm if the angle at the centre is 60° -
SECTION - C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Q3 Prove that in an obtuse angied triangle, the squafe on the side opposite to the obtuse angle is equal to the
sum of the squares on the sides containing the obtuse angle together with twice the rectangle contained by
one of the sides and the projection on it of the other.

Q4. Prove that a straight line drawn from the centre of a circle to bisect a chord is perpendicular to the chord.

Q5. Prove that if two circles touch externally then the distance between their centres is equal to the sum of their
radii. .

Q6. Draw two circles with radii 2.5 cm and 3 cm. If their centres are 6.5 cm apart, then draw two direct common
tangents.

Q7 From an observation point, the angles of depression of two boats in line with this point are found to

be30°and 45°. Find the distance between the two boats if the point of observation is 4000 metre high.
----- 2SA 1518 (ON) ----
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MATHEMATICS SSC-II

SECTION — A (Marks 15)
Time allowed: 20 Minutes ( old Syﬂim)

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not ailowed. Do not use lead pencil.

Q.1 Circie the correct option i.e. A/ B/ C/D. Each part carries one mark.
)] Which is a compound sentence?
A. x=4 B. x<4 C. x>4 D. x<4

(ii) Which cne is a solution set of x -5=-27

A. {3} B. {-9 C. {9} D. -7}
(iii) Which one is a solution set of [x+2/=37?
A ~1,5} B. 1,5 C. {~1,-5} D. {1,-5}
(iv) What is the meaning of the compound sentence x=>57
A. x>5 B. x=5 C. x=5o0rx>5 D. x<5
(v Efiminating x from x= ;L and x=2m, we get:
n
A 2mn=1 B. m=13n C. 2m=n D. 6mn =1
(vi) Eliminating z from z? +-—12— —a and z+1=b , we get:
z zZ
A P - =2 B. at+bt =2 C. a+b=-2 D. @t -k ==-2
(vii) Eliminating z form m~z=2 and n+z=4, we get:
A. m+n=6 B. m-n==6 C. m+n=2 D. m—n=2
wiiy  H2=2-k | then:
b ¢
A a=ck? B. a=hbk® C. a=ck D. a=>b%
{ix) ifsoct, then;
A s=kt B. st=k C. st=1 D. s=t

{x) f a:b=c:d, then alternendo property is:

A 3_2 B a_c c a+b:c+d D a—b=c—a'
' c d ' b d ’ b d ' b d
(xi) The third proportion of ¢’ and bis:
2
A ab B. 2 c. Z D. a*b?
b a
(xii) sf% =§ , then invertindo property is ?
A 2 -.° B. a—bzc—d C. -61:2 D 2:5_
a+b c+d a d ¢ d a c

(xil)  The relation of equations r* =%and =g free from ¢ is

A Pg=1 B. Pg =1 C. prgt =1 D. q =?
{xiv) Positive squarte root of variance is called:

A Standard deviation B. Range

C. Mean deviation D. None of these
(xv)  Which of the following is not defined?

A. tan 0° B. sec90’ C. c0590° D. 5in 90°

For Examlner’'s use only:

Total Marks: 15

Marks Obtained:
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MATHEMATICS SSC-Ii

( Old Syllabus )
Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers

neatly and legibly.
SECTION — B (Marks 36)
Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
(i) in a two digit number, the sum of digits is 12. On interchanging the position of digits, the new

number formed is 54 more than the original number. Find the number.

(ii) Find solution set of the following equation when ye R , -12=3 —|3y+1|

(i) Find the solution set of the following equationyc R , -5y—-6>17

(iv) Eliminate x from the following equation x* +—22— =a® ; X*+—=p
X

|

(V) Find the relation independent of x for the following equations. ix+my=1 ; (I+m)x*+a=0

-

(vi) y=64for x=16. Find y for the given conditionif x=8and yo x*.
(vi)  Find the fourth proportion of m* -n*, m and m-n

a

(viii)  #f > =% (where a,b,c,d #0), then prove that Sa+7b 5c+7d

Sa-7b S5c-7d
(ix) The ratio between numbers is 8:5. If 12 is added to each number, then the new ratio becomes 4:3.

Find the numbers.
{(x) Five students got prizes (in Rs.) 12, 16, 10, 14, 8 in making runs at a sport day. Find sum of square of
deviations from mean (¥) . Also find standard deviation.

{xi) The arithmetic mean of 45 numbers is 80. Find their sum.
{xii) Calculate the arithmetic mean from the following information. if D=x-25, Y /D =300 and} f =20

(xii)  Prove that Sn%_, ¢ _,
cosectd sech

{xiv)  Find the value of the following sin 60° cos30° + cos 60° sin 30°

(xv) Find the measure of an angle of elevation of the sun, if a tower 300 m high casts a shadow 450 m long.

(xvi)  Solve the following triangle when m£B=90° and b= 5\2em , c=5cm
(xvii)  Atriangle where mAB =53cm , mBC =5.8 cm and m£B =60° . Draw the right bisector of its sides.
(xvii) Draw the bisector of the angles of a triangle A4BC whose sides are mAB=5cm , mAC =4.8cm

and m/ZB =45°

SECTION — C (Marks 24}
Note: Attempt any THREE questions. Ali questions carry equal marks. (3x8=24)

Q3 Prove that in a right angled triangte, the hypotenuse is longer than each of the other two sides.
Q4. If two sides of a triangle are unequal in length, the measure of the angle opposite to the longer side is
greater than that of the angle opposite to the shorter side.
Q5. Ifdiameter of a circle bisects a chord, it will be perpendicular to the chord.
Q6. Draw the transverse common tangents to the circles with radii 2.6 cm and 1.3 cm when distance between
their centers is 6.2 cm.
——2SA 1509 (Oldy——
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